EAGRAROBREERT — 2 N— ABISH —F 202075198 (H) 4EFR##H6H

mﬂa%ﬂﬁgsﬁ;ﬂ; kBEFl (BES) T2 (xwlw | lmEmml - (w6 oo 8
[A&4)] 1 7% :7,900,000 @ 23 :3,200,000 3 3 :2,000,000 @ 43 :1,200,000 @ 5 j& :790,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
- sl BB 1 o1 5| — SHE— (2R
1 A ZAR AU EA t> 8 5 3(2_1)1 2-2-1-1 [ 13.5 1 (4+822) et
RixATaghLye BiILNAT HET7— L
S N BEREX :22. -1-4- . — #ET (FER)
A B 7| 8% g2y | e |na) - [ 7] e ER
L —NFXYLTF— BIAS NI — RYFRF—TI
S H X > 4 | WAREE 3:23.1 3-3-2-2 [13.7| — 8 440 | B9 (H)
3lgl12| V—FH¥H¥Iv b - 60.0 @ () | ML
LU—FHIITYL BivY/TYH BERYS
—: ¢ o4 | BREE 3:23.5 4-4-6-6 | 13.7| — 4 508 | HEERE (ER)
al7|n| 71— F [B] 60.0 @) o | #ES
R:T77—Hv>r B:IL2X EZHTT—L
s geq s N LB :23. 74~ . — BKET (EH)
5 5| VLY EA # o7 &5 (372;75) 7-7-4-4 | 13.7 5 ?523 ;;ng
R:TVYA AT B:FFa7L X3 Slitie]
N B S tEFF R :23. —-4-2- . — BRERFIZ (FEXR)
Wl ern~ronsy 4| pE se | weed 7] - s | e | HEY
L:TROXLTEL B:X2/F~1T =8 E=F
LRt : ~7-6- — =2/ (FXR)
7 o | KIAIT IR #o4 | R (37;273% 7-7-6-6 | 13.7 2 (4:324) ?\%ﬁ*
LixyUgTdyk B4/ IvELY R BEXEY K
. NEFFIRA : -10-8- — EE AR (EH)
slzliol va—p—710k 5 850 3.(234).1 10-10-8-8 | 13.7 10 <5+124) s
R:xF21=gr7—X B:LF1+—UF14R¢b ESs7 e ]
= = 44 | PRFZ 3:25.2 9-9-8-9 |13.8| — 13 512 | FREETT (ER)
9|11 | RZ>7LF 60.0 ) (+6) i
:O—KH+A7 B:759KEa—F1— [REkse]

L AT A 4 4 | EEFAER 3:26.7 11-11-11-10{ 13.9 | — 9 480 |BR (E®)
10[818| 7 VN7 NAP 60.0 9) L) | ) TuT kAT
L:T7LeFFE2T+ BTLIUTR BABS

S, . o4 | KIEE 3:27.5 4-4-10-10 | 14.0| — 12 | 458 |EIEZE (EH)
EH g| ¥Hra8> 58.0 (5) (o) | HE
RiwyyETdyk BiRIxFvRU-—> EvdLyRT7—L
— - TREA . 1o-12- - BERE (=)
121516 @®FT XAy TEY b 4 3 i 3.(288).8 12-12-12-13| 14.1 1 (ﬁsg) et
&:Congrats B:IUF>FT b Dr. Masatake |ida
W 5 4 4 | EBEH 3:29.2 13-12-12-12| 14.1 | — 6 500 | AARES (ER)
15l5l7| 4/ L0 ) e iy | ) 57572
R:Fa—TA NN~ B4/ TUYRR S TADAS
@ 71 L
) 51.1-38.3
NAZEA L
® I —F—EBIERL
13=7r= 8-3,12(9,11,4) (2,5)-1,10=13=6,7
2al=5F= 8-3,12(9,11,4) (2,5)-1,10=13=(6,7)
G=57= 3-(4,12) (8,5) (11,2) (1,10)9-13=(6,7)
41—+ — 3=(12,8) (4,5) (11,2)-10,1=(9,13)=7,6
[ RN
B OB 3 270M 714K 3-8 730M e & 3-6 2,600 &R 3-8-12 9,020
1 B 3 140/ 3-12 1,230M B & 3-8 1,820/ B 3-8-12 33,390/
8 320H 8-12 1,950 B H 3-8 3,570M
12 460M

ABRICOVTHRTEEERROODE, THEB LS,



